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thinking skill when answering the question. (10 points for the content
Thinking SKill I ChOSE: ....cceiieiiiiiiieie e

(Po5v1) on page 12 OR any thinking skill studied in class. Use this
of the answer, 5 points for the correct use of the thinking skill)
Why do you think Lemon Brown showed Greg his treasure? Give

information from the story to support your answer.
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about Lemon Brown. "He thought about it until he reached his
stoop, and decided against it." Why might Greg think he should

Lemon Brown?

tell his father about Lemon Brown? Give information from the

On Greg's way home, he wondered if he should tell his father

story to support your answer.
b. What do you think motivated Greg not to tell his father about

a.
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(6 points)
(15 points)
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content of the answer, 5 points for the correct use of the thinking skill)

Use this thinking skill when answering the question. (10 points for the
Thinking sKill I ChOSE: ....cccvviriiiiiieciieeee e

Appendix (noD)) on page 12 OR any thinking skill studied in class.
At the beginning of the story, Mrs. Jones is aggressive towards Roger
and then she changes her behavior. Why do you think she behaves
differently? Give information from the story to support your answer.

For this question, choose ONE of the thinking skills from the

How does Mrs. Jones show Roger she trusts him? Give ONE way.

11.
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PART III (15 points)
Answer the question for (13) Count That Day Lost OR (14) A Summer's Reading
"The best way to not feel hopeless is to get up and do something. Don't wait

"simple people struggling to make their lives better in a world of bad luck."

Make a connection between the above information and the story. Give
"It is better to say you are wrong than to insist that you are right, especially if
you are right." — Adapted from Thus Spoke Zarathustra by Friedrich Nietzsche
Make a connection between the above quote and the story. Give information

for good things to happen. If you go out and make some good things happen,
Bernard Malamud once described himself as a person who tells the stories of

Make a connection between the above quote and the poem. Give information

you will fill the world with hope, you will fill yourself with hope."

COUNT THAT DAY LOST / George Eliot

— Barack Obama, President of the United States
from the poem to support your answer.

A SUMMER'S READING / Bernard Malamud
information from the story to support your answer.
MR. KNOW ALL/W. Somerset Maugham
from the story to support your answer.

OR (15) Mr. Know All.
Suggested length: 60-80 words.
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APPENDIX TO PARTS I and II
Thinking Skills

e Comparing and contrasting

o Distinguishing different perspectives
o Explaining cause and effect

e Problem solving

e Inferring

o Explaining patterns
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